* 3. ZEfETd > EEEA(—1,2,1) HERRFEE : 2x—y—2z+110=0> E; : x—2y+2z4+2021=0 g H ~EHEREFE104 0 #2045

. -5 S I H
BREAERSE  4x+5+3z—9=0 - *x1. W5E  R5% ABCD—EFGHH » AB=6> AD =4 > AE =2 - %
[#&+ o) HEFEA K FE HER (1) &k D BAE(SEH BEG HYFERE - (543) E s 3 o
(4] EESERE R =(2,—1,—1) BESEERR, =(1,-2,2) rﬁ (2) ﬁﬁ?@%DBEGﬂgﬁ%fﬁ ‘ (543)

. | a 1 e 4 B
TR TE S E o AR 7 SO E/u : ( EAIERIIE = - X EEH X ) ;
— — =1l = — E N
B N ):(‘ Ll 2H2 1‘):(_4,_5’_3), / - j/ (4] S banaE - " G(—40,0)
) 2 202 1t = VR 4 F(0,0,0) G(—4,0,0)> _—
B =(4,5,3) LEB@BEA(—1,2.1) E(0,—6,0)°B(0,0,-2)" 0 onE| —o__Ae 7 ]
CCEBYHRERE B 4 (x+1)+5(y—2)+3(z—1)=0=4x+5y+3z—9=0 - HID(—4,—-6,—2)-
(1) S,Z@ BEG E@ﬁ*%ft?% A / B(0,0,2)
4. SEMH x—y+2z=3 BFHE 2x+y+z=4 FRAYSRA A A 60  JE - T4 L =1 =32y 462+12=0
[#& +.o] BFHETIE -4 -6 -2 ’
(47 ) SR E ix—y+2:=3= KB n =(1,—1,2) E:2x+y+z=4= FEEm =(2,1,1) Fiisk d (D » SEE BEG )= '3'(_4“\?'2(_6)2*6'2(‘2)*12’ :% )
E\ B E, Frp BSR4 6 > 3F+2°+6
Eljcosﬁz'?.;;]: 12-1+2] :l (2) BE=(0,—6,2)> BG=(—4,0,2)
T m | NP 22 2 = I?E’XB—GZ(’_é AP0 ,‘O _6‘)=(—12,—8,—24)
9 —60° 0 22 —4/l-4 o
"L 6 =60
] en == : - -
) . B = ABEG Hf&= —| BEX BG | = —(~=12)* + (-8)* +(=24)* =14
5. BEFFHE FOHERA 2x—2y+z=1> ZHEFH EBEVEHFPT HA4(1,3,1)°B(—2,3,2) T2 2\/
WRLESPE E AYEEREAESE » AISEHE EB9REA  4x—4y+22+11=0 .". PUTH B DBEG BBt = 1 X (/\BEG & )xd (D » ¢ BEG)
Uit oo ) SEEOGFT - BEIPEAER i ”
[#47 ] IREEE T FH E 89725 2x—2y+2+d=0 =-x14x2Z =16
" d(A,E)=d(B,E) = . .
2:1-2-3+1+d| _|2:(=2)-2:3+2+d| (4 o) BEFRIAVEERE - VUmASaE s
L 227+ 274 (=2) + 12 I
id:')_rd_g':jﬂ*:‘d_S* . 2. AT REBMCICE - ABREARTEBCAIER - {0H E —ERFARE 4
n EH - WA T HEWR  EEMESIE S WHHER S xy SPH - 455%
= —3=-8(F8)Rd=— IREBEE A (2,2,4) BUKRIGHBIRIGEENT E FAYEEB(1,2,3) -
‘ . o _ B (1) ok FmE EfyHER - (55)
*6. ZEfh s BA1A4(1,2,—3) B(—5,—1,0)> SEHE : x+y—2z+3=0> = ABZZH E > P & » (2] (1) " KHEE —ERFOKSEER
9o 2 3 . BA=(1,0,1) A E (AR E
E\l P:m E\ég‘\‘ TS A P T T, ° d 3 1
IFEEes | S 5 5) NEB(1,2,3) FFHE k- %A
(s + o) BEEHEHOIES Rt - Bk SEmE E iy e A
[ 47 ) 40508 - 1-(x—1)+0-(y—2)+1(z—=3)=0=>x+2z—4=0 -
AP : BP—d(A.E): d(B.E) 4 (2) B¢PiH E S mEAYERIC A & 0
Y L e 3 ) o PR e I PR \ " SPH E HRAEE BA=(1,0, 1) » 0 (xy Fl) B9ERE 7 =(0,0,1)
o NPAPe2) P2 B NPy & |BAT 0+0+1] o
DB ARG P BAIE . s BB = e = o deir it &2
(HEDHLL A (CD+I2 4041(H) 19 2 3. N Bl w| NUEERE Rl 2074
4+1  ° 4+1 4+ 5° 57 5 ’ = O =45°

(i oo ] SPEGER - BSFEaIR A

#%(wA /62



